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K= 4 20 1 663 114 628 14 1,440 1,385  104.0 7,129 7,427 96.0
A H 105 1 223 1 330 336 98.2 1,792 1,860 96.3
H g 5 227 35 113 7 387 388 99.7 1,945 2,016 96.5
VA 80 3 27 1 111 134 82.8 610 610/  100.0
AR 10 117 127 108 117.6 597 536 111.4
SUBARU 194 14 208 194 107.2 1,109 995/ 1115
A INY 1 18 19 19 100.0 99 88| 1125
=7 1 58 2 17 4 82 80| 1025 393 373 1054
AR 53 2 38 1 17 111 108 102.8 511 509 100.4
EE5; 27 5 4 16 52 63 82.5 262 260 100.8
=S 23 5 22 3 53 80 66.3 322 320 100.6
UDKZ 77 A 7 3 10 13 76.9 74 71 104.2
& D [E] PE 5 10 5 20 21 95.2 103 118 87.3
i) A H 10 1 177 10 46 4 248 225  110.2 1,097 1,115 98.4
&t (E) 151 14 1,515 229 1,204 0 76 9 3,198 3,154 101.4 16,043 16,298 98.4
ATAER A 5 (F) 188 13 1,388 214 1,236 98 17 3,154
Mt E/F % 80.3 107.7 109.1 107.0 97.4 77.6 52.9 101.4
A A (G) 183 24 1,589 233 1,234 86 27 3,376
Wt E/G% 82.5 58.3 95.3 98.3 97.6 88.4 33.3 94.7
LA DD BE (1) 809 65 7,420 1,142 6,166 354 87| 16,043
ARG (1) 823 58 7,138 1,089 6,735 1 350 104| 16,298
F e H/T% 98.3 112.1 104.0 104.9 91.6 101.1 83.7 98.4




